
 
 

350 S. St. Charles St. Jasper, In. 47546 
Ph. 812.482.2932  Fax 812.634.6632 

www.ridetech.com 

 

Part # 12109100 
67-70 Mustang/Cougar Front MuscleBar 

 
1 90001783 Sway Bar (Includes the following) 

 2 Frame bushing 

 2 Frame bracket 

2 90000114 3” PosiLink spacer 

4 90000717 PosiLink T-bushing 

2 90000926 10mm 90 degree PosiLink 

2 90000924 10mm straight PosiLink 

1 90001092 Tube of lithium grease 

2 99115003 10mm x 1.5 x 115mm (4 ½”) stud (use Loctite) In PosiLink 

 

Hardware Kit: 99010046 

4 99371004 3/8” x 1 ¼” USS bolt  Frame bracket 

4 99372002 3/8” USS Nylok nut  Frame bracket 

8 99373003 3/8” SAE flat washer Frame bracket/PosiLink 

4 99112002 10mm x 1.5 Nylok nut PosiLink  

 

 
 
 
 
 
 
 

 
 

http://www.ridetech.com/


 
 

12109100 Installation Instructions 
 

*****This sway bar is designed to work with our upper StrongArms****** 
 
 

 
 
 
 

 

1.  Apply lubricant to the poly 
bushing, then slide it over the sway 
bar. 
 
2.  Place the sway bar fame bracket 
over the bushing.   Bolt the sway bar 
to the frame using the 3/8” x 1 ¼” 
bolts, Nylok nut and flat washers 
supplied.   
 
Note:  Do not tighten the frame bolts 
until after the PosiLinks are installed. 
 

3.  Attach the 90 degree end of the 
PosiLink to the rear tab of the upper 
control arm using a 10mm Nylok nut 
and a 3/8” flat washer on each side 
of the tab.  
 



 
 
 

 
 

  

       

5.  The frame bolts can now be 
tightened. 
 
6.  Check sway bar and PosiLink 
clearance through full suspension 
travel.  
 
7.  Ensure that the PosiLinks do not 
bind through full suspension travel.  
 

4.  Slide a T-bushing over the 
straight end of the PosiLink, then 
slide it through the sway bar.   
Another T-bushing will be installed 
on the bottom along with a 10mm 
Nylok nut.  


